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Q.1: P2: motion quations Mark(s): 5/5

A merry-go-round has an angular acceleration of 0.30 rad/s’. After accelerating

from rest for 2.8 s, through what angle in radians does the merry-go-round
rotate?
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o PHY.6.1.01.011
o PHY.6.1.01.024
o PHY.6.1.01.025




Q.2: P2: moment of inertia Mark(s): 5/5

A solid sphere, a solid cylinder, and a hollow cylinder (a tube), all of the same
mass m and the same outer radius R, are released from rest at the top of an
incline and start rolling without sliding. In which order will they arrive at the
bottom of the incline?
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Q.3: P2: angular speed Mark(s): 5/5

A bicycle’s wheels have a radius R. The bicycle is traveling with speed v.
Which one of the following expressions describes the angular speed of the
front tire?
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o PHY.6.1.01.025




Q.4: P2: direction of rotation Mark(s): 5/5

[y

A rod is pivoted about its center. A5 N force is applied 4m from the pivot
and another 5 N force is applied 2m from the pivot, as shown. What is the
direction of the rotation of the rod?
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o PHY.6.1.02.052
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Q.5: P1: remembering skill Mark(s): 5/5

"A Point where all weight of object acts", what is this point called?
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o PHY.6.1.02.048

center of mass




Q.6: P1: conversion Mark(s): 5/5

[y

A point P has a location given in Cartesian coordinates as shown in the graph
below, how to represent point P in polar coordinates?
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Q.7: P2: rotation Mark(s): 0/5

[y

A yo-yo rests on a frictionless surface as shown. When a force F is applied to
the string, what will happen to the yo-yo?
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o PHY.6.1.01.026
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Q.8: P1: observation Mark(s): 5/5

Which combination of position vector r, and force vector F, that produces the
torque of highest magnitude around the point indicated by the black dot?
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o PHY.6.1.02.053







Q.9: P1: concept application Mark(s): 5/5

Which of the following equations is used to calculate the moment of inertia
of the object shown below when the axis of rotation is through its center?
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o PHY.6.1.02.052







Q.10: P1: reading grph

Mark(s): 0/5

Learning Outcomes Covered

Based on the graph below that shows the center of mass of two masses m:
and m,, what are the relative magnitudes of the two masses m: and m,?
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o PHY.6.1.02.032
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Q.11: P1: mathematical skill Mark(s): 5/5

A bike wheel rotates 4.50 revolutions. How many radians has it rotated?
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o PHY.6.1.01.015
o PHY.6.1.02.052




Q.12: P2: circular motion Mark(s): 5/5

[y

Four particles have the following masses in terms of (m), speeds in terms of (v),
and radii in terms of (r). Which particle has the least centripetal force?
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o PHY.6.1.01.027
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Q.13: P2: torque Mark(s): 0/5

>

A person exerts a horizontal force of 42 N on the end of a door 0.70 m wide.
What is the magnitude of the torque if the force is exerted perpendicular to
the door?
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o PHY.6.1.01.025
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Q.14: P2: center of mass Mark(s): 0/5

[y

The distance between a carbon atom and an oxygen atom in the CO
molecule is 1.13 x 10 ' m. How far from the carbon atom is the centre of
mass of the molecule?
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o PHY.6.1.01.011

6.5 x10'11 m




Q.15: P2: angular acceleration Mark(s): 5/5

A centrifuge rotor is accelerated for 30 s from rest to 20,000 rpm. What is its
average angular acceleration?
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o PHY.6.1.01.024
o PHY.6.1.01.025




Q.16: P2: LINEAR VLOCITY Mark(s): 5/5

A carousel is initially at rest. With a constant angular acceleration

a= 0.06 rad/s? which increases its angular velocity for 8.0 s before it becomes
constant. What is the linear velocity of a child riding a horse located 2.5 m
from the center when the angular velocity is constant?
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o PHY.6.1.01.011
o PHY.6.1.01.024
o PHY.6.1.01.025
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